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Section 1

Instructions

* Choose the best answer for Questions 1-20.

 This section has 20 questions and is worth 20 marks.

» Use a 2B pencil to fill in the A, B, C or D answer bubble completely.

 If you change your mind or make a mistake, use an eraser to remove your response and fill in the new
answer bubble completely.
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Do not write outside this box.
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Section 2

Instructions
* Write using black or blue pen.
 If you need more space for a response, use the additional pages at the back of this book.
— On the additional pages, write the question number you are responding to.
— Cancel any incorrect response by ruling a single diagonal line through your work.
— Write the page number of your alternative/additional response, i.e. See page ...
— If you do not do this, your original response will be marked.

 This section has seven questions and is worth 33 marks.
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QUESTION 21 (4 marks)

The graph shows the relationship between the mean wheat yield and the crop rotation system used.

\
| 3510

3347

3422

3166

2566 2658

2950

I I I
WWWWwW CwW CWW CWWW LW MW

Crop rotation

Key W=wheat C=canola L=Ilupin M =medic
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Do not write outside this box.
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Draw a conclusion about which crop rotation will allow the greatest opportunity for sustainable plant
production. Justify your conclusion using evidence and explain two benefits of this crop rotation system.

Do not write outside this box.
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QUESTION 22 (7 marks)

a) Identify two differences between the quality of feedlot rations and green fodder crops.

[2 marks]

in the tables.

A producer has recently weaned first-cross lambs that currently have a mean weight of 32 kg.
The Meat Standards Australia requirements for selling lamb, and feed options for these lambs, are shown

Category/Cipher Dentition H Carcass weight (kg) Fat score
Lamb ‘I’ 0 permanent incisor teeth >18 >2
Dressing percentage (lambs)
Fat score Unweaned (%) Weaned (%)
1 43 41
2 45 43
3 47 45

Lamb finishing system

First-cross weight gain (g/head/day)

Green fodder crops

180

Feedlot rations

300

Do not write outside this box.
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b) Determine the optimal feeding system to use if the weaned lambs are to go to market
in 60 days, with a fat score of 3 and a maximum carcass weight of 20 kg. Show your
reasoning.

[5 marks]

QUESTION 23 (2 marks)

Explain the process of tissue culture and its use in agricultural production.

Do not write outside this box.
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QUESTION 24 (5 marks)

The graph shows changes in the body composition of two steers of different breeds, A and B, at different
times during their development.
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a) Determine which steer matures earlier. Justify your decision. [2 marks]

Do not write outside this box.
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b) Discuss the implications of using an early maturing breed in terms of accessibility to
different markets. In your response, propose a solution for producers that allows them to
meet different market requirements.

[3 marks]

Do not write outside this box.
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QUESTION 25 (3 marks)

Identify two features of an online auction in the context of an agricultural industry.

Do not write outside this box.
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Asian countries.

QUESTION 26 (6 marks)

The graph shows the relationship between average annual income and meat consumption in some
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Discuss four opportunities for sustainable social growth in Australian plant and animal protein industries
using evidence from the graph. Draw a justified conclusion about the social sustainability of these
industries, referring to standard of living.

Do not write outside this box.
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Do not write outside this box.
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QUESTION 27 (6 marks)

The graphs show the erosion rate of soil on two blocks of land of varying slopes, one covered in grass and
one covered in trees and shrubs.
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a) Identify differences in the erosion rate of soil on the two blocks of land. [2 marks]

Do not write outside this box.
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The graph shows a cross-section of land for an animal production area.

Slope > 40°
E
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b) Using the data from Question 27a), decide whether grass or trees and shrubs would
be more suitable for sustainable animal production on sections A and B. Justify your
conclusions. [4 marks]

END OF PAPER

Do not write outside this box.
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ADDITIONAL PAGE FOR STUDENT RESPONSES

Write the question number you are responding to.

Do not write outside this box.
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ADDITIONAL PAGE FOR STUDENT RESPONSES

Write the question number you are responding to.

Do not write outside this box.

15 of 17




ADDITIONAL PAGE FOR STUDENT RESPONSES

Write the question number you are responding to.

Do not write outside this box.
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ADDITIONAL PAGE FOR STUDENT RESPONSES

Write the question number you are responding to.

Do not write outside this box.
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